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vt & Fer 39 8 vEe 9 g 3R #1 e & 97 & | 39 g A wer spie @ Bl gl 4 e T E

check up this Bookliet and ensure that it contains all the

printed at the bottom of the page. If you find any defect

Before you start to answer the questions you must|igst & seat &3 ¥ ogd w9 sw gRem M Fo b @ d A gwd s ¥

pages (1 -20) and see that no page is missing or (1-20) TaT BYE 5 FH T gART A aft 3 Ar § 3R W T & Fred wuw
repeated and that each page has the Test Form number| gy gw QREST H1 27T TR HEAT OIS §IT @1 | AR Iy g gt o

in this Booklet, you must get it replaced immediately. IR 9T, A e s o gl IREw A A |

INSTRUCTIONS TO CANDIDATES
1. This Booklet contains 100 questions in all comprising the
following four parts

L

Part A :General Intelligence and Reasoning (25 Questions)
Part B ‘General Knowledge and General Awareness (25 Questions)
Part C ;Elementary Mathematics (25 Questions)
Part D :English / Hindi (25 Questions)
2. In questions set bilingually in English and Hindi, in case of]
discrepancy, the English version will prevail. Z.

3. Parts A to C are compulsory for all the candidates and are
available bilingually. Candidates are required to attempt either|}s
English or Hindl in Part D

4. All questions are compulsory and carry equal marks.

5. You will be supplied the Answer-Sheet separately by the|

Invigilator.You must complete and code the details of Name, Relij}s.

Number, Ticket Number and Test Form Number in thejls

Answer-Sheet carefully.You must also put your signature nndl

Left-Hand thumb impression on the Answer-Sheet at the prescribed

place before you aclually start answering the. questions. These

instructions must be fully complied with, Tfailing  which, Yyour

Answer-Sheel will not be evaluated.

6. Answers must be shown by complelely blackening the
corresponding circles on Side-Il of the Answer-Sheet against the
relevant question number by Black/Blue Ball-point Pen only. (6.
Answers which are not shown by Black/Blue Ball-point:Pen will
not be awarded any mark. 3 "

7. A machine will read the coded information in the OMR Answer-
Sheet. In case the information is incomplete or different from the|
information given in the application form, such candidate will be
awarded '‘ZERO' mark. -3

8. The Answer-Sheet must be handed over to the Invigilator before
you leave the Examination Hall. J

9. Failure to comply with any of the above instructions will
render a candidate liable to such action/penaity as may be||s.
deemed fit.

10. The manner in which the different questions are to be answered
has been explained at the back of this Booklet (Page No. 20),
which you should read carefully before actually answering the

11. Answer the questions as quickly and as carefully as you can
Some questions may be difficult and others easy. Do not spend|

12. No rough work is to be done on the Answer-Sheet Blank

may be used for rough work.
13. “Mobile phones and wireless communication devices

Candidates are advised not to keep mobile phones/any other
wireless communication devices with them even in

off mode, in thelr own interest. Failing to comply with
provision will be considered as using unfalr means in the

examination and action will be taken against them including|
cancellation of their candidature.”

questions, 10.

too much time on any question. .

spaces provided at various places in the question booklet||12.

banned in the examination halls/rooms.}|13.
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Part A: Genera Hi d Reasonin

1) From the given alternative words, select the word which
cannot be formed using the letters of the given word.

fer 71 Rwet & ¥ tar ae gfaw @ R v
UeE & AW &1 TANT FIF ALT FATAT ST FHar &

ADMINISTRATION
A) Strain Tradition
C) Ration ituation
Question Nos.2 to 5
T HEAT2 8 5%

Directions / ldder Select the related word / letter /
number from the given altermnatives.

fav v faseat A & Grata e/ e/ HEaT gl

2) WALLET : MONEY :: ENVELOPE : ?

AT : U :: TS 2
ETTERm'sr

A) GuM /ite
C) suwms;razﬂm D) POSTOFFICE / 3r&ER

J,JQ

E}EEI

137 B) 125
D) 525

4) CARD :JOKER :: BOOK : 7
TR SR O 7

A) WRITER / 3@

2L WORDS / 31e€
C) COVER / Fmavor AGES!W
RN T O A Vs .
5) AK:FP:: XDk ?
A) TE B) SJ
g« D) BH

6) If 50 minutes ago, it was 45 minutes past four "o clock,
how many minutes is it until six "o clock?

e 50 AT Ee 4 TR 45 W ¥ A oF T

# frow Tee &2 ‘
(5

A) 35
C) 45 D) 15

7) Which of the answer figures can be formed using the
question figures.

S HTHTT FT TANT WE S W IeaR WG TS
ST | g

L
o
AN
%}é},’;

e EILLN K ATRRTIaR



8) Direction: Two statements are given followed by two

conclusions/Assumptions, | and Il. You have to
consider the statement to be true, even if it seems at
variance from commonly known facts. You are to

decide which of the given conclusions/assumptions

can definitely be drawn from given statement. Indicale
your answer.

B &t aFew Rar ar & e I g
frsss/srgare, | 3 1| e =2 & srvw @R
T & @ gaaey wca & g aF WA, T
Fegt & ey vl glar &) Jrwt ol #ver &
B Rv av gFaey # & Fa-ar Affaa w7 & 76
Ersd/mgar AT &1 Gwar @ 39a Ieaw F

P H

Statements /FETET.
1. No teacher comes to the school on a bicycle.

¢ e wshee W Rggrea #g 31 &

2. Anand comes to the school on a bicycle.

Wewe aEfhe W Regeg a3
Conclusions / =5

I Anand is not a teacher
Il Anand is a student.
Fere TR &l
A) Conelusion 11 alone can
be drawn. / hded TASRY

BY  Both conclusions cannot

be drawn, / E1AT ferey

Il @AFaar gl EABCERG]
C) Conclusion 1 alone can D) Both conclusions can be
be drawn. / #deT [@SHY drawn. / AT ey
| formerar B Awea
Question Nos.9 to 10
T FEAT 9 F 10 TF

Directions / fader A series is given, with one/two terms

missing. Choose the correct alternative from the given
ones that will complete the series.

v AT & T faA v/ ety g d | R
fRew=gl & & oar T8 RAFeT giav it A& & [ |

gs >

o) 3,8,19,15,17,22,24,2,7
A) 29,34 B) 29,32
2 D) 26,28

10) A.Z.B.Y,C,X,D,W,E,V,EU,G,?
A) V B) S

&

11) A piece of paper is folded and cut as shown below in the
question figures. From the given answer figures, indicate
how it will appear when opened.

A wew npraat # RAT WA SEET F ATH
Fey TUT WeW ¥ dE 9% W Iea INFIa AT

R 2am?

l W N N2 R4
. _

-

!| 0_{' O} © <>

A - B) C) D)
=

12) Raghu starts from his house in his car and travets § hm
towards the North, then 6 Km towards East then 10 Km
\owards his right, 4 Km towards his left, 10 Km towards
North and finally 4 Km towards his right, In which
direction is he now with reference to the starting point?

TG U X F AU PR A T Y& T § AW
R Km 3ea® & S &, fR 6 Km & 7 SO &

T @ 10 Km &0 F1ar § AR B 4 Km @@ S §
& =@%F a1g 10 Km 3cal 7 3R 3 & 4 Km a0
STar ¥ 38 WAY 9% 9 TUE B § R e
7 E?

B) North East / 3ea0-9d
D) South / ET&Y0T

A) North / SR
C) Aouth East / ETROT-98

T3} a certain code TEMPLE is written as METELP, How is
FAITHFUL written in that code?

fadY =18 A TEMPLE ar.:rMETELPﬁmr S g, ar
38 F1F F FAITHFUL # &8 for@r smeem ?

A) TAIFULFH

E]/TAFILUFH




Question Nos.14 to 16
V¥ §89T 14 & 16 %

Directions / fader: Find the odd word/letter/number from
the given alternatives:

PRfaT TFeal # ¥ Ruw =/3erEeEr ad
i

14)
A) Square / @ B) Triangle / Fogsr
©) Trapezium /wFeFm  P) cube/ww
15) |
A) QNO @F}I
¢)’ EBD D) YVX
16)
A) 631 B) 424
C) 432 D) 460

17) Which will appear 3™ in the dictionary?

USSR F A H AEW FITe g gram?
A) colloquy ollision
C) collinear collegiate

—

18) Which figure represents the relation amongst rose, flower
and leaves.

rfRfRe & & Sle-a st o, Ter 3R afeeat

FfwgawFr Ay
Qe
D)

QL)
Q|0

A) B) C)

19) If the alphabets are numbers the sum of which 5 alphabets
is 51.

gfe e H&AT B & #iF & 5 HERT & AT 51
gram?

@@Euf B) AIOEJ:
) AOUEH D) AEQIT

20) The number of students in an art class is increasing month
after month as follows. Find the number of students in June
from the following information.

Month Jan Feb March April May June
No. of students | 2 4 T 11 ?

FoT B UF FT A owE A g | A Fe
TR ¥ 4G T ¢ FEGER, e qE & AR

s & ot @ wer W A
s S, W A 39 A% S5
eRifrEEr 1, 2 4 79 1 I
A) 13 3) 4

c) 15 @

21) Find the missing numbcr [rom the given responses.

e a1v RJereat # & goa d@ear A9 Hife

‘ i PRy _5-
| /';\ /;\ \ A
I |8 4 s"fs 9 3

C) 9

B) &
D) 6

22) From the given answer figures, select the one in which the
question figure is hidden/embedded.

& ¢ Ioe| Fpiadl H ¥ 39 Ioa} HEia A
gfav e v aefa AR &

oS

A) B) C)

P




23) A word is represented by only one set of numbers as given
in any one of the alternatives, The sets of numbers given in
the alternatives are represented by two classes of alphabets
as in two Matrices given below. The columns and rows of
Matrix | are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, e.g., T’
can be represented by 03, 12 etc., and ‘M’ can be
represented by 55, 67 ete. Similarly, you have to identify
the set for the word ‘RUDE’.

UH e Hae UH WEA-HAF @RI GUAT I E,
ﬂmﬁ;ﬁm#ﬂﬁiﬁw#ﬁmmm
F&mﬁ#f&wmmmmﬂtﬁﬂm
mﬁwm?ﬂmﬁ:mﬂﬁvmﬁmm‘mm
Wlﬁmmmﬂmum & g R
mmnﬂrs#g ﬁw#mmaﬁ
mmqﬁﬂmmﬁmmmm
S e §] 3ERYT & A T # 03, waﬁzm
mﬁmmmtaﬂr‘wﬂm‘r 55,67 e Z@RT
Z T S AT B mm#mm H Ru
g ‘RUDE’ & T W5 & qgar=ar 2|

MATRIX I MATRIX Il
" iw.1]213'4,  |5°6]7 3
0/BDETO 5/MU|/I 48
1.D E[T'O B __I_EULMHr ? 3
2Z’EBO:DT 17:1 MIR UL
3 TOBED '8LRUIM
A4.0TpBE '_9 IR LM Uy~
0,99, 34, 11 B) 77,56.02,01

C) 45,87, 42,12 D) 56,65, 10,33

24) Which answer figure will complete the pattern in the
question figure?

Hi I Pl W WPl F wiawT F @
e * ‘
q

O

D
d
O

D)

25) In the question, if a mirror is placed on the line AB then

which of the answer figures is the right image of the given
figure?
WA # IfE Edor A7 AB I@T 9 W@ FET £ ar Fie

A 3eaT WFlT & T Hipfa w1 wEr gfafara gefr?

r__ j
— 9
E_
_— .
e e W Rl Ty L
| ——— |~~~—~—| T T—— .
TA) B) (‘E}i]_ D)

F 1

—
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Part B: Gener e and General
Awareness
21 M o | O 1 1 o MR A A
26) Which among the following countries was the first to give
women the right to vote?

ffaf@a & & &5y & & wavas Afanit &
Ao =ar

A) 1celand / 3TN
Zealand / ¥l

B) UsA./ 3@RET
D) India/ sima

27) A very hot and dry local wind blowing across North Indian
plains in summer is:

AT & Iea-aRaT At & aga arelr it
T vd U TR ganat &) s wEa §?

A) foehn / v m,:‘g/

©) mistral / G D) jet stream / S5 tmT

28) In Iﬂdjﬂ, National Youth day is celebrated on:
R # T gar ey F& A=A AT §7

]EHUII'}’ [ 1

B) Ist January / | S=ad

e
C) 20t January / 20 D) 30m January / 30
STerady SAadr
29) The method that cannot be used for removing permanent
hardness of water is:
qrT @1 TRy FORATH ¥ A & fow & &Y
fafer &r s FE BFar S §Sar?
A) adding causticsoda / B distillation / 3TRTEeT
Hitece arsr RAsmer
C) boiling / FaTere D) adding sodium carbonate
| wfegs FEfEe
Aemer

30) Who is the woman Boxer to win Silver medal in London
Olympics of 2012:

wee Hefts 2012 & o9 yew W Afgar
HFharst A Sar?

A) Nicola Adams / ﬁ'ﬁ'ﬂm’ary Kom / &% s

UsSH
C) kaTie Taylor / T A% D) Natasha Jonas / #amam
o AT

31) Wha propounded the dynamic theory of profit?

H F TR F [Agig & Siauea e Far

B) wWalker / @R

larkfaﬂn‘l:

32) The second largest continent of the world is;

favg &1 g gy 991 AgedT @l &2

A) Knight / 8T
C) Hawley / 813

A) North America / 3ear  Bl-asia / oftrr
WATET
C} anwrctica / 3er®Er D) Afvica / 3nfrer

33) Population census is taken once in:

mmﬂﬁﬁuﬁmﬁmm

years.-‘é-ﬂ'f/

years / 10 a¥

B) 15 years / 15 @Y
D) every year /| 9faay

34) The nuclear reaction in which the mass 1s converted into
energy is called:

39 AfdrT gfafear #F ¥ Fea & Owd geuae
35t # aRore & Srer 87

A) endo thermic / U2 B) exothermic / wadY
uff s uffi=
C) endoergic / G wieim D) exo ergic / T
it




35) A person with blood group ‘O’ can receive blood
transfusion from persons with blood groups-

W A ‘0’ T e R W W §
¥ & & GHhal 87

A) b only / Faer O
C) 0and AB/O 3T AB

B) A, Bonly/ ¥aw A,B

D) A.Band0/ A, B3R
0

e

36) Which Mauryan ruler accompanied Bhadra Bahu to
Shravanabelagola?

#Fla ¥ AT aEF g OF F WY AT &7 AT AT
€7

A) Ashoka/ 30
C) Dashratha / G3RY

B) Bindusara/ RGER

o Chmmpw

37) Heavy grey coloured clouds which are responsible for rains
are called:

¥ o gl et B FT FEd § o @ wd §

=i A
C) cumulus / Fardy A9

B) Limbus / wIT AE

D) Cirus / TETH AW

38) An amphoteric substance acts as:
wrprefe uerd R w0 & B e 27

th an acid and a base B) Base / 81X

| 3FF AR &R g

C) None of the options / D) Acid / 36
fow o faweat # 8
a4 il
39) The first PM who had resigned without attending
Parliament session was-
T GUH TS FiF ¥ SR gue 97 A
Iqfeus g0 Rar & cger 9v & e U

A) smt Indira Gandhi / B) Lal Bahadur Shastri /

haran Singh / TIROT wiﬂﬁai / AR
e TS

40) The “Continent of Contrasts” is:-

B) Australia / rE2farm
D) Asia / ufRrm

A) ica /| 3nRrERT
C) Antarctica / eTdiceT

41) Under the Constitution, public health and sanitation and
hospitals and dispensaries fall in the:

aﬁﬂmﬁaﬂﬁmm_ﬁﬁmmmuﬁ

sirwererT fre g I #2
A) co list/ GFad  B) Statelist/
ncurrent list tate tﬂw
=
C) Notist/ fardy 5 & D) Cemral list » Fg |AT

el

42) The group of countries that are usually referred 1o as the ™
Baltic countries” ¢consist of

B e 3 giEwgar “afecsd &2 Fel AT g,
IAF §HE H Sl ¥ oy uifAe 87

A) Estonia, Latvia and
A Lithuania

B) Sweden, Finland and

Estomia
veciferar, ardafaan e, el 3R
T fergsnfar vEel e
C) Poland, Belarus and D) Denmark, Poland and
Lithuania Latvia
grefE, deed AR 3AATE, ez AR
erganfaan shataar
43) The first electronic digital computer contained the
following:
yuH saEciae Ried gl A Rwlafad & |
71 ur?
A) Transistor /| TITAEET B) Electronic valves /

sogeliee ared

C) Naceum tubes / & UJ,ME mtiductnr memory
| Y FEwer AAY
a3

et U |



44) Who among the following was the Viceroy of India when
the mutiny of 1857 took place?

1857 ¥ e & 99Y HRE & Ty
ffafaa # ¥ Sie ar?

A) Lytton/ Tolge
€) Dalhousie/ TaEIS

B) Minto/ fwer
el

45) The Ramakrishna Mission was founded by:
| THEST AN fr T e fr A

A) Raja Rammohan Rai / B) Dayananda Sarasvati /

TS IFHARA IT gaWE |EEar
ami Vivekananda / D) Iswar Chandra
e —— Vidyasagar / $3aX 9%
lECRIEILES
46) Which of the following is NOT an aerosol?
rfaf@a # &« v #8187
A) fog | PrET B) ‘loud / aTEH

C) smoke / 3T

udfﬁﬁ

47) Which revolution was started by the Government of Indiu
to increase the milk output.

ZIY 3eUIEA 9o & [T HRA SR Z@RT HieT-A
iﬂﬁ'ﬂ?ﬂﬂé‘?

lt:: Revulutlmyﬂ( B) Green Revolution /

C) Biue Revolution / Arelr
wifer

D} Yellow Revolution /
el SHifar

48) Which is not a central problem of an economy?

s¥egaeyr & FHT gEET AEiET 7 § $&210
d8l 87

k{ For whom to produce? / B) How to maximise pr:rah‘.‘
9
Seqiee fred e prefic? / T S5
F 22 :ﬁﬁw Fq HGEA

D) How to produce? /
I U FEAT 87

) What to produce? /
3cAIe AT FEAT 87

49) Louis Pasteur discovered:
TS TF o [Eer @id f17

A) Penicillin / dafR B) polio Vaccine / QYferY
I
D) nsulin/ Qo

tirabies Vaceing /

TR

50) South Africa’s first black president and anti-apartheid icon
Nelson Mandela died on:

Zfdor anfieT ¥ guw 3ndg sgufa AR B
At ITSHLT Sead ASem Y 7Y F9 557

A) December 2, 2013 B) December 6, 2014

2 fewew, 2013 6 TeHeT, 2014
C) December 9, 2014 Mﬁ
9 fewaT, 2014 5 feweT, 2013
SO0 ——
o So i 2 / Y




Part C: Elementary Mathematics
- —

51) The time required for a boy to travel along the external and
internal boundaries of a circular path are in the ratio 20 :
19. If the width of the path be 5 metres, the intemnal
diameter is:
UH Wed & Ry graer 9y Fir aedr AR waRs
UREENT F WY gaa H 20: 19 F QU H g/4T
mﬁuﬁwﬁMSMEa‘fW
e fonae 87 r},ﬁ__,
t ‘ \a
A) 195 metres | HeX B) 192 metres / #rex

C) 190 metres / #rex D) 180 metres / HreX

52) A man rows 750 m in 600 seconds against the stream and
returns in 7"/2 minutes. Its rowing speed in still water is
(in Kmv/hr).
U S, 600-8Fs H URT At i A7 750
#r dter gamar § 3k 712 Bee & aow atear ¥

!ﬂﬁﬁﬂﬁmtamw?ﬁ{ quri’n

Pt @197 __ﬂ,_.\/,@'“ﬂr@a—'-—
A) 5.75 milsﬂ 7/'-1/
C) 5.5 / D) 525

53) Ram bought a bike for T 60,000. He paid T 10000 cash
down and the rest at the end of 2 years at 15% simple
interest. How much more did he pay as simple interest?

T T60,000 F UHh aGEd @ 3T T 10000
Ade A S AR dw M & 2 At F aw
15% W®TYROT &4Ts 9T ¥ararer fhan ST =ars &

® 7 3W Faar s HAT 9317
A) T 25,000 @ﬁ,ﬂﬂﬂ

C) 50,000 D) ¥ 35,000 4
3

= s
« 2L.500 1#

54) If T 510 be divided among A, B, C in such a way that A
:tszfa of what B gets and B gets 1,’4 of what C gets then
their shares are respectively-

ﬂﬁ!ﬂlﬂﬂAkB C & dw 3w vy eanfea
ﬁ?mmﬁa}#r’g.aﬂﬁaﬁamma’iaﬂzfa "
st faer 3B ﬂcﬂiﬁaﬂaﬁaﬂﬁﬂh
arer A &t 39 A wAE: faar ge?

L

A) T 150,300, T 60 B) T 60, T 00, T 360

C) T 150, T 240, T 120 D) 7120, % 240, T 150

55) Six friends have an average height o 107 cms, A boy with
height 162 ¢m leaves the group. Find the new average
height.

GE aredar &1 3rag J9% 167 cm B 162 cm ETS

AT U ASahT IH HAF & o AT g A3 diEa

wqE AT fforg) fff7
A) 167 ¢cm lﬁE{:m
C)} 169 ¢n D) 166 ecm 5—/’
Question Nos.56 to 57
¥ §&AT 56 & 57 aF

Directions / fAd%" The following pie-chart shows the

market share of four companies S, T, U and V. Total market
is worth ¥ 72 crores. Study the pie-chart and answer the
questions.

A=faf@a ge-ar # ax Fufagt ..U Ay &
AR AT AUTAT AT §| T AR T 72 FAT F

UI3-9T¢ & FEAAA Aifov AR 9= F 3eaw Ao

((_ff‘l_q_



56) The difference of market shares of companies V and U 18?7
Fafadt VIR U & iRk A9X 7 fraer 3T 87

Gures!ﬂﬂ’ts

C) 6 Cores | T

B) 8 Cores / #I

D) 9 Cores | ®I

. 3T7) The company having maximum market share is ?

HOTFaH a9 AT G FIAT HBiA-H &7

a5

58) A house worth T 1,50,000 is sold by X to Y at 5% profit.
Y sells the house back to X at 2% loss. Then in the entire
transaction:
¥1,50,000 #d HI-TH FAH X G@NT Y F 5% TTH
[ ¥ -

g 99T ST 8] Y 36 A®E & Ay X F 2%

gy ¥ & &ar g W die 7 ¥ Fufd @

B) T
D) U

A) X losesT 1350
X & T 1350 #r g

8%

B) X gams T 4350
X & T 4350 FT ATH
BHT

C) Xloses¥ 4350 D) XgansT 3150
X & T 4350 T g X &l T 3150 F H

4 BT

59) The three angles of a triangle are in the ratio 3 : 4 : 5. Then
the angles are:

v o & A For 3:4:5 F FAUT A G, A
T e 3T F 87 "

A) 600, 459 759 B) 759 60°,45°

@Sﬂ, 60°, 759

D) 609, 759 45°

60) The sum of all natural numbers from 75 to 97 1s:

75H97 aF fr T wplae HEar & AT =0

g +8U4 6+ &_.f_-—rqaﬂm_l*t y-

BIT?
“1¢ +18 '}ﬂ_.f.&j—-—-—" |
= ®
A) 1958 |\l 9
C) 1798  (, L
6 D
61) The sum of two positive numbers is 20% of the sum of “
their squares and 25% of the ditterence of their squares. If
the numbers are X and Y then i
X+Y is equal to-
xz
2 UHATCHS TEATHT &1 49T 396 91 & ANRT &
200 ¥ HIT 3% 9Ot F HaT # 25% ] I
FEOU X HRY A ,
X { e
xLYm B:FTF'? 1|‘I |" R
A n
}:E I". 1‘ !
" i
O,
A) ! B3 N
3 8
t C) 2 D)1
4 4

62) What should be the least number of years in which the
simple interest on ¥ 2600 at 6 Ef:-i'?.ﬁ will be an exact
number of rupees?

3 auT fr FgFaH GEar F4T g REH T2600 W

62/3% € e ¥ AYaReT sy @ U Toat Hr

Uy O AT & Anwei?
A) 4 B) 3
C) 5 D) 2

63) The amount of rice produced in square field of side 50m is
750Kg. The amount of rice produced in a similar square
field of side 100m will be-

50 Hex Houl G vF R @a 7 750 R
Iad & SeqeA Brar §] 100 A gont are 3o &
SR QT # 3c9e= araer H A Thae grei?

g

A) 2000 Kg / FFam
C) 3000Kg / fm

500 Kg / e
D) 3500Kg / fam




64) The average weight of 8 persons increases by 2.5Kg when
a new person comes in place of one of them weighing 65
Kg. The weight of the new person is-

8 =ufFaar &1 dwa g 39 9§59 2.5 o /¢
AT AN A6 Parasw F s AT &
W W U 91 dfed 3T Sar g J4 ST &

'Z/ aoie foraer 87

et
A) 76Kg | T B) 84kg / fam
@sngfﬁmn D) 76.5Kg / fam

65) A seller gains 20% profit even after allowing 10%
discount. If the amount of profit on a TV set is T 750, then
the marked price of the TV set is:

v fashar 10% $r ge & & a@g Y 20% T JAH
FATar §) afe &dr AT av o Hr R T I50 § A

& A #r AHiha ey w4 B2
A) T 5000 B) T 5500
C) %4800 D) %5200

66) The average age of a husband and his wife was 23 vears at
the time of their marnage. After five years they have a one

year old child. The average age of the family now 15-

& qf3-gett & WET g IFF Qaw & §ET 23
ay ot oI 99 & ¢ ITH UFH g9 & godr ol
e gRa @1 JEa 1y Tmdelr 87

B) 19 years / @y

A} 285 years / ay

C) 2 vears [ CL

“3 zgayemfadr [

67) B8 children and 12 men complete a certain piece of work in
9 days. Each child takes twice the time taken by a man to

finish the work. In how many days will 12 men finish the

same work?

8 @& 3N 12 mmmngﬁaﬁm
T 8 mﬁm‘rﬂwmﬁmﬁ
oA H AT THT 9T g 12 e 36 w1

fraer Rt & o F?
ff-""‘
A) 9 days / et Ilda}fs.fﬁ?-l'
C) 13 days / R D)} |5 days / f&e

68) ifx, y are rational numbers and 3 1] I J11,
3-2411
The value of x and y are:

afE x,y 9@AT dEaw § v sl

_3..,]J

=} Y %

a x dRy & 717 Far g

=L E‘, '.'____1:- }T:I::-‘I-é-'

25 37 17 26
C} 3;_—.—:-,,_:;:"_.| F:.-l_:-: D} MET ij }=‘u
15 15 13 17

69) A scooter is sold at three successive discounts of 10%, 5%
and 2%, If the marked price of the scooter is T 18,000,
find 1ts net selling price.

UF FHET 10%, 5% AR 2% & deF Hegshids @ W
49T FTAT 8] afE Tgex & Adfeha JEw T I8,000 § A

fHaa i A5 wa fifaw)
A) T 15080.00 B) T 15082.00
C) T 15082.20 D) T 1502820
-

S ag -
A
Mo

-




TR Wi MIRATEITET WRTRTURER T RRN

70) Ritu purchased 2 1/2 dozens eggs at the rate of ¥ 20 per

dozen. She found that 6 eggs were rotten. She sold the
remaining eggs at the rate of ¥ 22 per dozen. Then her

profit or loss percent is:
R & T20 Wi gt & &y W 2 /2 aoie 38

wlie| 38« & & 39 6 32 w2 gU &) 39w AW
3% T 22 wfa goie fr &X 9v a9 Qv 39 ae
wierre amer ar gifey 887

% profit / w18

C) 10% profit / W

B) 10% loss / &1

D) 2% loss / iG]

71) A 200 metres long train is running at a speed of 72 Km/hr.
How long will it take to cross 800m long bridge?

T 200 Hrex o dr oomEr 72 e/ wer froafa A
o 8T §] 800 A FF GF H IR FA H 39
fraer g\g TP

B) 40 second / A5
D) 50 second / HFs

A) 60 second /| TFHS

@ﬂsecundfﬂﬁi!

72) A certain number of men can do a work in 40 days. If there
were § men more, it could be finished in 10 days less. How
many men were there initially?

TG OfRd UF FH A 40 7T # = gha ¢ 9
8 &afga iR e v, o 98 &F 10 &S FH
ARG A g B WEAT & N A FH A Fo e
=faa &9 U472

NI i

B) 24 2

A) 16
D) 30 P < 20

c) 20

73) The value of (75.872 — (35.81 is

40
(75.8)2 — (35.8) T AN 4T 82
40
ll.ﬁ B) 121.6
C) 40 D) 160

.

74) A man allow a discount of 10% on a book whose marked

price is ¥ 40. What is the cost price so that the profit is
20%?7

U eafdd UH QFas W o i B T40E,
10% i T AT & ITHT AT FHE T g
foad @msr 20% &7 812

A) T35
C) 230

B) T40
D) 245

75) If the radius of a circle is decreased by 10%, then the area
of the circle is decreased by:

afe el e @ s 10% wer & A0 & e &

s
A) 25% B) 18% Yo
C) 89%9% D) 19%
e —~——

_\‘2,
>

Y
A7 e

e Ho e

A

—
—

q¢

B

xl}

3
%n e
5




Part D: English

Question Nos.76 to 78
VT AT 76 § 18 dF

Directions / fad¥r: Some parts of the sentences have
errors and some are correct. Find out which part of a
sentence has an error and blacken the circle
corresponding to the appropriate correct option. If a
sentence is free from error, blacken the circle
corresponding to “No Error” option in the Answer Sheet.

76) The camp beside ours has been built in 1966 by John’s
brother,

A) by John's brother
C) has been built in 1966

B) No error
D) The camp beside ours

77) 1have been waiting for you since two hours.
A) I have been waiting
C) since two hours

B) Noerror
D) for you

78) An idea was worth nothing if it has no champion.

A) No error B) Anidea
C) ifit has no champion D) was worth nothing

Question Nos.79 to B2
Y9 H84T 79 & 82 FF

Directions / fader. Sentences are given with blanks to

be filled in with an appropriate word(s). Four alternatives
are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening
the appropriate circie in the Answer Sheet.

79) He has been staying in Delhi a long time,
A) from B) tll
C) for D) since
80) Jones is a member of our
A) coup B) counter
C) council D) counsel

81) A man from our village has been nominated the
ruling party’s candidate for the post.

A) for B) as
C) in D) to

82) We get milk from the
A) daisy
C) diary

B) dailv
D) dairy

Question Nos.83 to 85
Yo7 FE&AT 83 ¥ 85 9%

Directions / fader Choose the word oppasite in

meaning to the given word and mark it in the Answer .
Sheest.

83) noisily
A) quietly B) clearly
C) loudly D) distinctly
B4) beautiful
A) hountiful B) bizarre
C) ugly D) unique

85) admuration

A) contempt B) disaprove

C) blame D) despise
Question Nos.86 to 88
X HEIT 86 & 88 °F

Directions / fader Out of the four alternatives, choose

the one which can be substituted for the given
words/sentences and indicate it by blackening the
appropriate circle in the Answer Sheet.

86) One who pretends to be what he is not:
B) Liar
D) Hypoerite

A) Tumncoat
C) Actor

87) To put two and two together:

A) Proud
C) Understand

B) Good friend
D) Selfish friend




88) A container for the ashes of a dead person:

A) Vase B) Vessel
C) Jug D) Um
Question Nos.89 to 91

Y97 HEAr 89 91 9%

Directions / fader Out of the four altematives, choose

the one which best expresses the meaning of the given
word and mark it in the Answer Sheet.

89) ENORMOUS
A) Warehouse B) Trivial
C) Immense D) Petty
90) DRIZZLE
A) Splash B) Trickle
C) Sprinkle D) Downpour
91) INEVITABLE
A) Undeniable B) Significant

C) Unavoidable D) Crucial

Question Nos.92 to 94
o7 5847 92 & 94 g%

Directions / A3 Four alternatives are given for the

Idiom/Phrase underiined in the sentence. Choose the
alternative which best expresses the meaning of the
Idiem/Phrase and mark it in the Answer Sheet.

92) His frequent journeys are telling upon his health.
A) affecting B) threatening
C) informing D) improving

93) My kith and kin congratulated me on my brilliant success.
B) niece and nephew
D) relatives

A) colleagues
C) father and mother

94) Television has become part and parcel of ours lives.

A) showy part
C) status symbol

B) unavoidable luxury
D) important part

Question Nos.95 to 97
Yo H&YT 95 & 97 %

Directions / fader Four words are given in each

question, out of which only one word is correctly spelt.

Find the correctly spelt word and mark your answer in
the Answer Sheet.

95)
A) cumplacency B) complacency
C) complacensy D) complicency
96)
A) compulsorry B) compelsory
C) compulsory D) compulisory
97)
A) enthusaism B) enthussiasm

C) enthusiasm D) entusiasm

Question Nos.98 to 100
Y37 §GLT 98 & 100 %

Directions / @@ A sentence / a part of the sentence is

underiined. Below are given alternatives to the
underiined part which may improve the sentence.
Choose the correct alternative. in case no improvement
is needed choose “No Improvement”.

98) No cconomist can accurately foresee whether tax will go
up or down.

A) No improvement B) obviate

C) expect D) anticipate

99) Joumnalism and medicine would be two of his career

options.
A) might be B) No improvement
C) could be D) will be
100) One should keep their word.
A) his B) one's
C) No improvement D) everyone's




b1 H T

Question Nos.76 to 78
Y HEIT 76 § 18 aF

Directions / fader 20 a7 asgt & gaig (gamnds ue=z)
& folv - g [3se faw v & 3faa fawey giav aur

I 9I3FT H AGaqER FTr S
76) sk
B) wome
ST D) 3mrerde
T st
A) e B) et ¥ 3% =)
( j. e D) semma
78) g
(%) B) et &
g D) Feufas

Question Nos.79 to 81
v H§&Ar 79 & 81 8%

Directions / A3 35U a1v yed& FiFgmer & 60 0 9ieq
&IV sw fov an-ar Reey v 710 & 3 Reey #
AT HISTT HR 3ecv-Tf35T A dgq8R o7 i

) 3 e @ @

A) ety B) 3
OZ ) s
80) ¥ amar a7 o w

A) g B) wuw

81) S ¥Ry @ AW AT @

A) et B) smeras

C) et D) Rygadr
Question Nos.B2 to 83
Y97 HGIT 82 & B3 A%

Directions / fAger B0 717 Zgrant sifv siwif@aar & ref
g & e ar-ar Rser R av @ vl & fav
39y e arelr Aweq AT HI Ieae-93FT # degar
Foi FHifore]

HZ}E'IT-I'EFFHF-IT

A) #fr @y I aTn B) zur 9w &g &
C) argt & wmrE T O} aua & fsm aren
aredTl

53) @ qq & wvg g

A) 3w & wgar waed B) gmer @ s
AT BT
©) yeufts wwmer ger D) wnfr @

Question Nos.B4 to B6
Yo7 HE&IT 84 & B6 aF

Directions / fader €U 710 eg] & 3ugsd @A
gaie & T aR-ar Reey veafRa 2 3fug ey
F1 04 PFT T Iear-afds & FEq87 Fa




W Ry

85) o 90)
A) gt B) o= A av) sfra B) (1v) e
C) win D) gy ©) av) 3rrem D) qv) fawey
. 91
86) fwiw :} }
B
A) g B) e . (V) s ; (V) R
C) ‘Ffﬁﬁ?l' D) T (V) E=1e (W?ﬂ'&ﬁ'
Question Nos.92 to 94
Question Nos.87 to 91 :
W T a7 & o1 X HEqT 92 § 94 aF

Directions / Rder: v 710 areaf # R &=t #Y 30T
¥eGT GART {Iet & fAw an- g faswey R v & 3y
RFET GIAT TUT S0t 3FT 7 FagwT FTer el

Directions / IR&r: 2w 717 ysedie & Rea et &
3R #reat ZaRT QI & faw ar-ar ey R v @
9T [AHT GIAT T I 3T H S FAT

I 92) sraamar % T AR w5 g TR
Sitae & woerar AN Rwwar & & Fror Bedr 8] 7o 6 A) arpma B) e
¥ Heew Al PR a1 # ere wwe &) 399 agur ©) sepma D) s

FEAAT AT ARG AT H_(1)  FE e 57T F 2hra
B e B AT s & ¥, SR o s aan at e | | ) A Syl o weer Hwaw &
g A F HAForar & g1 ST §] 579 e o e ey g fear

Fra@Fasraa _(I) g sard a srer s s A) e | B) gsfiaor |
A AT D_(Y) AT I F 3R Fewe 9 Ed E gy ) gt | D) yffeafda wvor |
HrM g aT NG FEATA (V) aeg g s &
) smrager o @ w4 3
o A) Zdr g | B) frrer g |
A) (I) 3r&ETerar B) (1) g=eren C) g g | D) R g |
C) 1 #waar D) (1) Frswrorar
Question 5 to 97
¥ HEIT 95 § 97 TF
88) Directions / fader v arv areral & & ol 329 & #if
A) ) gfomsR B) (1) wfRsror FO 8% & T & [ 19T H IR B IHE HTwT Hew
C) any waTOT D) ) wwmmr qTet ATHIT Qe 3 FTell #) Ife ararr # #E 37 8 at
'wiF I TF JTel I8 3 TR et H G TRE FTelT
89) i
A) () Rramehrer B) R

C) () e D) am s




gﬁlaﬂwaﬂﬁaﬁ‘rmﬂmﬁmmm# "
sy W A) zer € drar a=n B) weur qu # @@ e

A) get ax @ oY Prew B) a3
FT . S
C) urir & sy v D) awt % By &

96) m ~1 j) I. H

FH R 0, $O fhae @d¢ AN aow 71 I

A) 2§ IR at B) & aww v 8 1 2 C(

C) o fra @l D) 3k amw I

M onfeat & &5 faed oot & o & wdhen o @
Eaig

A) F=at & awr 6 B) zpfagt & &8 fawet

C) oher & o & D) =% 3fe =

Question Nos.98 to 100
V97 FEIT 98 & 100 aF

Directions / I3&wer 30 10 ar arFal H v# T1FT Y 8
3 e g & yg T &t AT FUT IeeR- 9T H
TGHFHIT FTAT HHAT

98)

A gaa s favir B ag Qv ik gz o=
e & Sl & 3eon # 3o 2
gl

CmaeairmEy P sgaaditomesad
AT i i

99)

A) Faar AY W I
#r FI F

C) Foar #Y wx 3= $
AT H




MANNER IN WHICH ANSWERS ARE TO BE GIVEN

Directions: Each question or incomplete statement is
followed by four alternative suggested answers or
completions. In each case, you are required to select the
one that correctly answers the question or completes the
statement and blacken appropriate circle A, B, C or D by

Black/Blue Ball-point Pen against the question
Eﬂﬂﬂﬂl’ﬂﬂd in the AﬂﬁWﬂl’-Shﬁﬂtwww.previouspapers.in

(For V.H. /| Cerebral Palsy candidates corresponding
|circle will be blackened by the scribe.)

The following example illustrates the manner in which the
questions are required to be answered.

Example :
Question No. 'Q" -

Out of the four words given below, three are alike in
some way and one is different. Find the ODD word:

(A) Girl
(B) Boy
(C) Women
(D) Chair
Explanation : In the above example, the correct answer

is 'Chair and this answer has been suggested at 'D.
Accordingly the answer is to be indicated by blackening

- |the circle by Black/Blue Ball-point Pen in column 'D¥
-~ |against Question No_ 'Q" in the manner indicated below:

" |Question No. Q'

® 060 00

There is only one correct answer to each question. You
should blacken the circle of the appropriate column, viz.,
A, B, C or D. If you blacken more than one circle against
any one question, the answer will be treated as wrong.
Any change / correction in the responses or use of
correcting fluid is prohibited.

You are NOT required to mark your answers in this
Booklet. All answers must be indicated in the
Answer-Sheet only.

Feax &9 # R

- TS W WY Y WYY FUE & 9 1R
oA AT W YA I a0 § | 9w e H

o faEedt uw @y geer § S W @ e IeR &

Hyar FUR # 9@ wY AW A Ieaw-afEer A
IYYFT MATHR T A, B, C or D &7 wrafder ater
gigT 9 § Few HET 6
(FReaita / aRee o=t 3Fgat & oo @
remeR s garr Fe fBRar Jiv )
A few 710 IERTor & TOse B S @ I e
R T I £ |
JGTENT :
Y[ €. 'Q -
e for gr AR eEl A A $e Red-ged § aun
T O I e &1 § | a8 e MR B e
FJTC -

(A) 5T

(B) 3T

(C) Higem

(D) FT
FUSHTOr - FIT F IaeTor F wh Seav "HE ¥

g e ‘D' H G I § | e W €'Q' F wEe
R 'D' F TR T H Fer/aAton de 95T 9 F

qoieaT Fer F& e A gars R & wger R
FART §

9= wQ

® 6 0@

Yeldd W @ $a UH & 96 Ical £ | ARt
wHEE SieH 3 A B, CT1 D & TR WA &l

Fell HET § | 9fe 39 BFE W & e U 8

HOw M WA F FHIA @ HIH I Tod Jel
FTEA | 3T 7 TR o avE @ Seew ar axfEedr
Feqs F I afed £ |

g0 Qe & el I Ieax b 7@ = ¢ |
ool Fad Sca-afyer 7 & € |
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